4. SINIF PROBLEM KITAPCIGI 2

Cevap001=173743; Cevap002=7829; Cevap003=1348;
Cevap004=9700; Cevap005=8252; Cevap006=1795;
Cevap007=6386; Cevap008=7701; Cevap009=876953;
Cevap010=8687; Cevap011=6944; Cevap012=3006;
Cevap013=8678; Cevap014=6523; Cevap015=8254;
Cevap016=6378; Cevap017=3898; Cevap018=3321;
Cevap019=15; Cevap020=3165; Cevap021=8336;
Cevap022=8698; Cevap023=3134; Cevap024=5924;
Cevap025=5339; Cevap026=7831; Cevap027=7991;
Cevap028=3395; Cevap029=86541; Cevap030=4969;
Cevap031=242067; Cevap032= 4; Cevap033=4698;
Cevap034=7263; Cevap035=4603; Cevap036=1499;
Cevap037=654; Cevap038=2039; Cevap039=921998;
Cevap040=228808; Cevap041=7380; Cevap042=1281;
Cevap043=5670; Cevap044=98573; Cevap045=9721;
Cevap046=7340; Cevap047=259; Cevap048=7649;
Cevap049=5600; Cevap050= 4;



